Math 323 Operations Research Notes on Chapter 7

Sample table for transportation problem

C.K. Li

Example Solve the Powerco problem.

C1 C2 C3 C4 | Supply
P1 $8 %6 $10 $9 | <35
P2 $9  $12  $13  $7 | <50
P3 $14  $9  $16  $5 | <40
Demand | >45 >20 >30 > 30
Cityl | City2 | City3 | City4 | Supply
Plant1 8 6 10 9 = =
35
Plant2 o 12| 13 7 1= 2= A
50 B -
Plant3 14 9 16 5 us = U=
40
Vg =
Demand 45 20 30 30
Cityl | City2 | City3 | City4 | Supply
Plant1 8 6 10 9 v = 1=
35
Plant2 o 12| 13 7 1= V2= A
50 - o -
Plant3 14 9 16 5 3 3
40
Vg =
Demand 45 20 30 30
Cityl | City2 | City3 | City4 | Supply
Plant1 8 6 10 9 = =
35
Plant2 o 12| 13 7 1= 2= A
50 us = Vg = -
Plant3 14 9 16 5 5 3
40
Vg4 =
Demand 45 20 30 30
Cityl | City2 | City3 | City4 | Supply
Plant1 8 6 10 9 v = U1 =
35
Plant2 o 12| 13 7 "= 2= A
50 usz = V3 = N
Plant3 14 9 16 5 3 3
40
Vg =
Demand 45 20 30 30




